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1. A. m) 1) Gyp efk; 1

2) A, C 2

3) kpjg;gjw;fhd ,irthf;fq;fs; / fhw;wlf;fkhd ,ilf;fdpak;> ghuk; FiwT> mlu;j;jp

FiwT 1

M) 1) epyf; fPo;j; jz;Lfs; %yk; 1

2) tpj;Jf;fs; eLtjhy; Gjpa ,ay;Gfs;> Gjpa Ngjq;fs; cUthjy; / mUtil jhkjkhjy;

xl;ljyhy; tpiuthfg; gad;fpilj;jy;> Gjpa ,ay;Gfs; cUthfik 1

B. 1) rpypf;fd; cNyhfg; Nghyp> 1

Nrhbak; cNyhfk; 1

ngh]; gu]; my; cNyhfk; 1

2) x - fhuk; 1

y - mkpy; 1

C. 1) flj;jy;> Nkw;fhTif> fjpu; tPry; (Mfpa %d;Wk; ,Ue;jhy;) 1

2) m) fjpu; tPr;R 1

flj;jy; 1

3) fspkz; Flj;jpy; Ez; Jisfs; cz;L> mYkdpaf; Flj;jpy; Ez; Jisfs; ,y;iy>

Ez; Jisf;$lhf ePu; MtpahFk;. mjw;Fj; Njitahd ntg;gj;ij ePupypUe;J cupQ;Rk;.

mjdhy; kz; Flj;jpy; ePu; Fspu;r;rpahf ,Uf;Fk; 1

2. A. 1) A . fiuf;Fk; ,ay;G / cau; jd;ntg;gf; nfhs;sT fhzg;gly; 2

2) a) mkpNdh mkpyk; 1

b) nfhOg;gkpyk; 1

c) C, H, O 1

B. 1) A/ FUjp fyk; 1

2) B / ksksg;ghd jir 1

3) C 1
4) ,jaj; jir 1

5) fpisfisf; nfhz;bUj;jy; / jdpf; fyj;jhy; MdJ / fisg;gilahik 1

C. 1) capu;f; fyq;fspy; cUthFk; mDNru;g;gpd; NghJ Njhd;Wk; fopTg;nghUl;fis mfw;Wk;

nraw;ghL 2

2) rpWePufj;jpd; 1

3) cau; mKf;f tbfl;ly;> Nju;Tf;Fwpa mfj;JwpQ;ry;> Rwj;jy; 2

3. A. 1) mad; Nru;it 1

2) mad;fSf;fpilNa kpd; gpidg;Gfs; fhzg;gly; /mad; gpizg;Gfs; cUthFjy; 1

3) gq;fPl;L Nru;it / gq;fPl;L tYg; gpizg;G 1

4) Yap]; fl;likg;ig tiutjw;F 2

tpdhg;gj;jpuk; II

tpdhg;gj;jpuk; I
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tlNky; khfhzf; fy;tpj; jpizf;fsk; - ,uz;lhk; jtizg; guPl;ir 2018

gFjp A  mikg;Gf;fl;Liu
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B. 1) nkf;dPrpak; cNyhfk; Nghlg;gl;l Foha;   1

2) Mg + 1HCl  -> MgCl
2
 + H

2
  2

3) xw;iw ,lg;ngau;r;rpj; jhf;fk;   1

4) jhf;fk; eilngwhJ   1

5) Cu, Fe, Zn, Mg, Al  vd;w xOq;fpy; ,Ug;gJ fl;lhak;   2/0
C. 1) eLepiyj; jhf;fk;   1

2) mkpy fhu eLepiyj; jhf;fq;fSf;F ,U re;ju;g;gq;fis fhl;Ltjw;F   2

4 A. 1) cuha;itf; Fiwj;jy; / tOf;Fk; jd;ikia mjpfupj;jy; 1

2) ,ae;jpug; ghfq;fs; tpiutpy; Nja;tiljy; / rf;jp tpuakhjy; / tpidj;jpwd; Fiwjy; 1

3) vz;nza;fis ,Ljy;>  fpwP]; / vwpnghUs; vz;nza; ,Ljy; 1

Fz;Lg; nghjpia / cUspg; nghjpia

njhLif Nkw;gug;Gfis xg;gkhf;Fjy;

4) m) epiyapay; cuha;T tpir 1

M) ,af;ftpay; cuha;T tpir 1

B. 1) A. njwp Nkw;gug;G / jsthb 1

F.   Ftpak; 1

2) Fopthb 1

3) ,U fjpu;fisahtJ tiutjw;F 1

tpk;gj;ij jPu;khdpf;f 1

C. 1) FWf;F miy 1

2) nel;lhq;F miy 1

FWf;F miy 1

3) m) Jzpf;iffs; 1

M) rf;jp 1

5. A. 1) G+ 1

2) Fwp 1

3) fUf;fl;lypd; gpd; Kiyaj;jpw;F Nghriz toq;Fjy; 1

B. 1) guk;giu myF 1

2) P̀NkhgPypah / rptg;G gr;ir epwf; FUL 1

3) m) TT ck;  Tt 2

M) X T t
t Tt tt 2

t Tt tt
C. 1) a) gpupnkd;wfL 1

b) thj ehsp 1

2) gOTf;fpilahd jirfs; RUq;Fjy;

gpupnkd;wfL RUq;Fjy; 3

neQ;riuapd; fdtsT mjpfupj;J mKf;fk; Fiwtjhy; EiuaPuy;fSf;Fs; fhw;W gha;jy;

3) C
6
H

12
O

6
 + 6O

2
 = 6CO

2
 + CH

2
O = rf;jp 2/0

4) a) fhgdPnuhl;irl;L / ePu; 1

b) nghUj;jkhd mikg;gpw;F 2

5)

6 A. 1) $baJ B 1
Fiwe;jJ I 1

2) 7 1

3) FG 1

B. 1) fhgd; %yfk; 1

2) Ca +2 O  + 2 H 1
         40 +2‹16+2‹1     1
         74
3) mtfhjNuh khwpyp / 6.022 x 1023      1
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4) Na + O +H 1
23 + 16+ 1 1
40 1
40 ‹ 2 } 80 g

C. 1) m) vijy; ml;fNfhy; / cg;Gf; fiury; / ePu;f; fiury; / FSf;NfhR riufy; VuhtJ xd;wpw;F

1

M) ePsj;J}s; fiuf;fg;gl;l ePu; 1

2) fiurypd; ntg;gpepiy mjpfupj;jy; / ntg;g ePupy; fiuj;jy; 1

3) ePUk; vijd; mw;fNfhYk; KidTj; jd;ik nfhz;lit 1

Mdhy; fpwP]; KidTj; jd;ik mw;wJ. mjdhy; ePupy; vijd; mw;fNfhy; fiuAk;

4) FYf;Nfhrpd; %y; vz;zpf;if  =

= 1 mol 1

ePupd; %y; vz;zpf;if = 1

= 10 mol

FSf;Nfhrpd; %y; gpd;dk;  = =

5) A+upahtpd; %yu; jpwd;  = 60 g mol-1

A+upahtpd; %y; vz;zpf;if = = 0.5 mol 1

nrupT = x 1000 1

= 1mol dm-3

7. A. 1)   mOj;j Ntw;Wik - Nthy;l; / V 1

kpd;Ndhl;lk; - mk;gpau; / A 1

2) V = IR 1
3) kpd;Ndhl;lk;  =

- 0.5 A
4) m) E = ½  mv2 1
   M) ,af;f rf;jp } ½ ‹ 1000 kg ‹ 2 ms-2    }  1000 J 1
5) 600N x 1m  tpir x 8 m 1

tpir 75 N 1
B 1) X - tPr;rk; 1

Y - miy ePsk; 1

2) 0.1S  ,ypUe;J 0.2 s  tiu 2

3) 300000000ms-1  my;yJ 3 x 108ms-1 1
C. 1) gLNfhzj;ij i vdTk; 1

KwpNfhzj;ij r  vdTk; Fwpj;jy; 1

2) KwpTr; Rl;b = my;yJ  = = 1

3) xspf;fjpu;fis tiujy; 1

tpk;gj;jijj; jPu;khdpj;jy; 1

4) jsthbfspd;  / Ftpthbfspd; gf;f Neu;khuy; epfo;Tfshy; vOj;Jf;fis thrpf;Fk; ,lu;

ghil ePf;fp thrpg;gjw;F trjpahjy; 2

8. A. 1)  ,ypq;fKiw ,dg;ngUf;fk; 1

,ypq;f kPs; Kiw ,dg;ngUf;fk; 1

2) ypq;f <UUj; Njhw;wk; 1

3) ,];j;Nuh[d; 1

180g
180gmol-1

180g
18gmol-1

1
1+10

1
11

30g
60g mol1

05 mol
500ml

3.0 V
6

sin i
sin r

1
sin c

cz;ik Mok;

 Njhw;w Mok;
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4) FSf;Nfh]; / mkpNyh mkpyk; / tpl;lkpd; / fdpAg;G / A+upah Nghd;w ,U tpilfSf;F 2

5) fU 1

6) a) tpe;J 1

b) Kisak; 1

c) va;l;]; 1

B 1) fz;zhbf; Fs;shy; njd;glf;$ba jd;ik / el;flj;jp / rPuhd tpupT 2

2) kUj;Jt ntg;gkhdpapd; Fiwe;j tPr;R fhzg;gly; / kapu; Jisf; Fohapy;

tisT fhzg;gly; 2

3) 1800 JC-1 x 40C = 72000J      my;yJ  72kJ 2
4) ug;ghd; nkd;rt;tpy; mjpu;ntz; mjpfupj;jy; / RUjp mjpfupj;jy; 2

5) Xa;tpypUf;Fk; my;yJ rPuhd Ntfj;jpy; ,aq;Fk; 2

9. A 1) mikg;G A 1

2) nghUj;jkhd mikg;gpw;F 2

3) Gwntg;gj;jhf;fk; 1

4) mr;Rf;fis Fwpj;jy; 1

jhf;fpfs;> tpisTfspd; kl;lq;fisf; fhl;Ljy; 1

5) n`kill; 1

6) m) kpd;gFg;G 1

M) 2> 8 1

m) F- 1

B 1) 4N 1
2) 4N 1
3) 400cm3 2
4) msTr; rhb my;yJ ,lk; ngau;f;fg;gl;l ePupd; fdmsit msj;jy; 2

5) X 4200 J kg-1C-1 x 20 C0   =  21000 J    my;yJ  21k J            = 175W 3250
1000

2100
120


